
Kerr Q5450PT Piston Type Pump 
 

Part Number Description 

KA-52L Valve Spring (Discharge) (Long) 

KA-72HT Discharge Valve, Heat Treated A/R with Insert 

KA-73HT Suction Valve , Heat Treated A/R with Insert 

KA-74HT Valve Seat , Heat Treated A/R 

Q5450-245-450 Piston Complete 4-1/2 

Q5450-245-425 Piston Complete 4-1/4 

Q5450-245-400 Piston Complete 4 

Q5450-245-375 Piston Complete 3-3/4 

Q5450-245-350MU Piston Complete 3-1/2(Molded Urethane) 

Q5450-245-350 Piston Complete 3-1/2 

KA-246 Piston O’Ring 

Q5450-250-450 Piston, Body Only, 4-1/2 

Q5450-250-425 Piston, Body Only, 4-1/4 

Q5450-250-400 Piston, Body Only,4 

Q5450-250-375 Piston, Body Only, 3-3/4 

Q5450-250-350 Piston, Body Only, 3-1/2 

Q5450-260-450 Piston Cup Kit, 4-1/2(Cup, Retainer Plate, Snap Ring) 

Q5450-260-425 Piston Cup Kit, 4-1/4(Cup, Retainer Plate, Snap Ring) 

Q5450-260-400 Piston Cup Kit, 4(Cup, Retainer Plate, Snap Ring) 

Q5450-260-375 Piston Cup Kit, 3-3/4(Cup, Retainer Plate, Snap Ring) 

Q5450-260-350 Piston Cup Kit, 3-1/2(Cup, Retainer Plate, Snap Ring) 

Q5450-265 Extension Rod, Piston Type 

Q5450-275 Pony Rod, Clamp Type 

Q5450-285-450CER-A Ceramic Liner Ass'y, 4-1/2 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-450CH-A Chrome Liner Ass'y, 4-1/2 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-425CH-A Ceramic Liner Ass'y, 4-1/4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-425CERER-A Chrome Liner Ass'y, 4-1/4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-400CH-A Chrome Liner Ass'y, 4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-425CH Liner, 4-1/4Chrome 

Q5450-285-425CER Liner, 4-1/4Ceramic 

Q5450-285-400CH Liner, 4 Chrome 

Q5450-285-400CER Liner, 4 Ceramic 

Q5450-285-375CH Liner, 3-3/4Chrome 

Q5450-285-375CER Liner, 3-3/4Ceramic 

Q5450-285-350CH Liner, 3-1/2Chrome 

Q5450-285-350CER Liner, 3-1/2Ceramic 

Q5450-285-450CH Liner, 4-1/2Chrome 

Q5450-285-450CER Liner, 4-1/2Ceramic 

Q5450-285-400CER-A Ceramic Liner Ass'y, 4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 



Gasket) 

Q5450-285-375CH-A Ceramic Liner Ass'y, 3-3/4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-375CER-A Ceramic Liner Ass'y, 3-3/4 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-350CH-A Ceramic Liner Ass'y, 3-1/2 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

Q5450-285-350CER-A Ceramic Liner Ass'y, 3-1/2 (Piston Complete, Piston Rod, Lock-Nut, Liner, Liner 

Gasket) 

KA-300HT Discharge Valve Complete, A/R Heat Treated (KA-72HT, KA-74HT & KA-52L) 

KA-305HT Suction Valve Complete, A/R Heat Treated (KA-73HT, KA-74HT & KA-52S) 

 


